axis
axis

>> plot(sin(0:0.1:2*pi))

1 sin plot
60
>>plot(0:0.1:2*pi,sin(0:0.1:2*pi))

axis
tight
plot(0:0.1:2*pi,sin(0:0.1:2*pi));axis tight
axis tight axis(‘tight’)
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tight y -inf,inf
MATLAB inf
plot(0:0.1:2*pi,sin(0:0.1:2*pi));axis([-inf inf -1.5 1.5])
-inf,inf
axis tight -1.5,15
tight

plot axis
axis

X Yy +1 +15

>> plot(0:0.1:2*pi,sin(0:0.1:2*pi));tmpaxis=axis;axis([tmpaxis(1:2) -1.5 1.5])

tmpaxis=axis; plot
axis axis([xmin xmax ymin ymax])
axis Xmin,xmax tmpaxis(1:2)
ymin,ymax

axis xlim,ylim
>> plot(0:0.1:2*pi,sin(0:0.1:2*pi));ylim([-1.5 1.5])

set
axis set
plot(0:0.1:2*pi,sin(0:0.1:2*pi));set(gca,'ylim',[-1.5 1.5]);
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gca GetCurrentAxis
'ylim' [-11] [-1.5 1.5]
y tick 0.1

>> plot(0:0.1:2*pi,sin(0:0.1:2*pi));set(gca, ytick',-1.5:0.1:1.5,'ylim",[-1.5 1.5])

XTickLabel, Xtick X

xx=[];xlabel=0:0.5:2;

% xx=['0pi ] 0.5pi | 1pi| 1.5pi| 2piT; for
%%%%%%%% %% %% % %% %% %

for i=1:length(xlabel);xx=[xx num2str(xlabel(i)),'pi | T;end;
xx=xx(1:end-1);% remove last |

%%%%%%%%%% %% %% % %% %% %
plot(0:0.1:2*pi,sin(0:0.1:2*pi));set(gca, 'xtick',xlabel*pi,'xticklabel’,xx)
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YtickLabel,Ytick,ZtickLabel,Ztick
linear,log

set,get

plot
>> plot(cos(0:0.1:2*pi),sin(0:0.1:2*pi));
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axis
equal
>> plot(cos(0:0.1:2*pi),sin(0:0.1:2*pi));axis equal

axis square
>> plot(cos(0:0.1:2*pi),sin(0:0.1:2*pi));axis square




